BST VSEEM REMEDY PROCEDURE

TIER-1 CALCULATION:  

1. Calculate the test statistic for each CLEC at the State Level; zCLEC1  (See Exhibit C)

2. Calculate the balancing critical value( cB CLEC1  ) that is associated with the alternative hypothesis (that the CLEC mean does not exceed the ILEC mean by no more than     100 B% of an ILEC standard deviation; where,  B is fixed).  (See Exhibit C)

3. If the State test statistic is equal to or falls above the State balancing critical value, stop here.  Otherwise, go to step 4.

4. Calculate the Parity Gap by subtracting the value of step 2. from that of step 1.;         zCLEC1  - cB CLEC1
5. Calculate the Volume Proportion using a linear distribution with slope of ¼.  This can be accomplished by taking the absolute value of the Parity Gap from step 4. divided by 4;  ABS((zCLEC1  - cB CLEC1 ) / 4).  All parity gaps equal or greater to 4 will result in a volume proportion of 100%.

6. Calculate the Affected Volume by multiplying the Volume Proportion from step 5. by the Total CLEC1 Volume in the negatively affected cell; where the cell value is negative.  (See Exhibit C)

7.   Calculate the payment to CLEC-1 by multiplying the result of step 6. by the appropriate dollar amount from the fee schedule.

So, CLEC-1 payment  = Affected VolumeCLEC1  * $$ from Fee Schedule

Example:  CLEC-1 Missed Installation Appointments (MIA) for UNE Loops


n I
n C
MIAI
MIAC
Z
CB
Parity Gap
Volume Proportion
Affected

Volume

State
50000
600
9%
16%
-1.92
-0.21
1.71
0.4275













Cell










1

150
0.091
0.112
-1.994



64

2

75
0.176
0.098
0.734





3

10
0.128
0.333
-2.619



4

4

50
0.158
0.242
-2.878



21

5

15
0.245
0.075
1.345





6

200
0.156
0.130
0.021





7

30
0.166
0.233
-0.600



13

8

20
0.106
0.127
-0.065



9

9

40
0.193
0.218
-0.918



17

10

10
0.160
0.235
-0.660



4
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where nI = ILEC observations and nC = CLEC-1 observations

Payout for CLEC-1 is (133 units) * ($400/unit) = $53,010
TIER-2 CALCULATION:  

1. Calculate the test statistic for the CLEC Aggregate at the State Level using all transactions from the calendar quarter; zCLECA
2. Calculate the balancing critical value( cB CLECA  ) that is associated with the alternative hypothesis (that the CLEC mean does not exceed the ILEC mean by no more than     100 B% of an ILEC standard deviation; where,  B is fixed).

3. If the State test statistic is equal to or falls above the State balancing critical value for three consecutive months, stop here.  Otherwise, go to step 4.

4. Calculate the Parity Gap by subtracting the value of step 2. from that of step 1.;        zCLECA  - cB CLECA
5. Calculate the Volume Proportion using a linear distribution with slope of ¼.  This can be accomplished by dividing the Parity Gap from step 4. by 4; ((zCLECA  - cB CLECA  ) / 4).  All parity gaps equal or greater to 4 will result in a volume proportion of 100%.

6. Calculate the Affected Volume by multiplying the Volume Proportion from step 5. by the Total CLECA Volume (CLEC Aggregate) in the negatively affected cell; where the cell value is negative  (See Exhibit C).

7. Calculate the payment to CLEC-1 by multiplying the result of step 6. by the appropriate dollar amount from the fee schedule.

So, CLEC-A payment  = Affected VolumeCLECA  * $$ from Fee Schedule

Example:  CLEC-A Missed Installation Appointments (MIA) for UNE Loops

State
n I
n C
MIAI
MIAC
Z
CB
Parity Gap
Volume Proportion
Affected

Volume

Quarter1
180000
2100
9%
16%
-1.92
-0.21
1.71














Cell










1

500
0.091
0.112
-1.994



214

2

300
0.176
0.098
0.734





3

80
0.128
0.333
-2.619



34

4

205
0.158
0.242
-2.878



88

5

45
0.245
0.075
1.345





6

605
0.156
0.130
0.021





7

80
0.166
0.233
-0.600



34

8

40
0.106
0.127
-0.065



17

9

165
0.193
0.218
-0.918



71

10

80
0.160
0.235
-0.660



34













       492

where nI = ILEC observations and nC = CLEC-A observations

Payout for CLEC-A is (492 units) * ($875/unit) = $430,172

Tier-3

Tier-3 is triggered by repeat failures for the CLEC Aggregate in a given calendar quarter for five select measures, 12 sub-metrics.  The table below displays a situation that would trigger a Tier-3 failure, and one that would not.  
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Tier-3 is effective immediately after quarter results, and can only be lifted when two of the five sub-metrics show compliance for two consecutive months in the following quarter.  All tiers are independent, such that triggering Tier-3 will not cease payout of any Tier-1 or Tier-2 failures.
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Examples

		

		Definitions:

												* $$

								3

		"% to Z" is the Mean, Percent or Rate that would yield a performance result equal to the Critical Value

		Ex A:  Percent Missed Due Dates						(Tier -1 and Tier-2)

				BST		CLEC1		% to Z				Volume

		Month1		5%		6%		-		-		300

		Month2		6%		10%		8%		2%		400

		Month3		4%		8%		5%		3%		500

		Month4		5%		9%		7%		2%		600

				Month1		Month2		Month3		Month4

		Tier-1 Payment		-		2 * 400 * $$		3 * 500 * $$		2 * 600 * $$

		Tier-2 Payment								1167 * $$





Tier-3

		

												TIER-3 FAILURE						NOT A TIER-3 FAILURE

												X = Miss								X = Miss

				Process		Measures				Month 1		Month 2		Month 3				Month 1		Month 2		Month 3

				Percent Missed Installation Appointments		Resale POTS				X		X		X				X

						Resale Design				X								X		X		X

						UNE Loop & Port Combo						X

						UNE Loops				X		X		X

				Percent Missed Repair Appointments		Resale POTS				X		X		X				X				X

						Resale Design						X		X						X

						UNE Loop & Port Combo														X		X

						UNE Loops												X

				Billing		Billing Accuracy				X		X		X

						Billing Timeliness												X		X		X

				Trunk Blockage		Percent Trunk Blockage				X		X		X

				Collocation		Percent Missed Collocation Due Dates

						Percent of Requests Processed within 35 Days





Tier Matrix

		

								VSEEM III

		Process		Measures				Resale POTS		Resale Design		UNE Loop & 
Port Combo		UNE Loops		IC Trunks		LNP		Other

		Pre-Ordering		Percent Response Received wihin "X" sec																Tier-2 (B)

				OSS Interface Availability																Tier-2 (RA)

		Ordering		Order Process Percent Flow-Through																Tier-2 (B)

				FOC Timeliness (Mechanized only)																Tier-1 (B)

				Average Reject Interval (Mechanized only)																Tier-1 (B)

		Provisioning		Total Service Order Cycle Time (Mechanized Only)				Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (RA)				Tier-1 and Tier-2 (RA)

				Percent Installations Completed within "X" Days										Tier-1 and Tier-2 (B)

				Percent Missed Installation Appointments				Tier-1, -2 and -3 (RA)		Tier-1, -2 and -3 (RA)		Tier-1, -2 and -3 (RA)		Tier-1, -2 and -3 (B)

				Percent Provisioning Troubles within 4 Days of Installation				Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (B)

		Maintenance		Customer Trouble Report Rate				Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (B)

				Percent Missed Repair Appointments				Tier-1, -2 and -3 (RA)		Tier-1, -2 and -3 (RA)		Tier-1, -2 and -3 (RA)		Tier-1, -2 and -3 (B)

				Maintenance Average Duration				Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (B)		Tier-1 and Tier-2 (RA)

				Percent Repeat Troubles within 30 days				Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (RA)		Tier-1 and Tier-2 (B)

		Billing		Billing Accuracy																Tier-2 and Tier-3 (RA)

				Billing Timeliness																Tier-2 and Tier-3 (RA)

				Usage Data Delivery Timeliness																Tier-2 (B)

				Usage Data Delivery Accuracy																Tier-2 (B)

		Trunk Blockage		Percent Trunk Blockage												Tier-1, -2 and -3 (RA)

		LNP		Disconnect Timeliness														Tier-1 and Tier-2 (B)

				Percent Missed Installation Appointment														Tier-1 and Tier-2 (B)

		Coordinated 
Customer 
Conversions		Coordinated Customer Conversions										Tier-1 and Tier-2 (B)				Tier-1 and Tier-2 (B)

		Collocation		Percent Missed Collocation Due Dates																Tier-1, -2 and -3 (B)

				Percent of Requests Processed within 35 Days

		LEGEND:  RA = Retail Analogue,   B = Benchmark
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